
Grammar

Directions: The following quotations are incomplete sentences. There are four alternative

words or phrases, A-D given below each question. Choose the word or phrase that best

completes the sentences.

1. We all should learn to be more kind ____________each other."

A. with

B. for

C. to

D. at



A. with

Incorrect Try Again



B. for

Incorrect Try Again



C. to

Correct Next Question

Explanation: ‘to’ is the correct choice. "Kind to" is the correct prepositional phrase



D. at

Incorrect Try Again



2. Let's get going I have _____________ heard such nonsense.

A. ever

B. never

C. forever

D. wherever



A. ever

Incorrect Try Again



B. never

Correct Next Question

Explanation: ‘never’ is the correct choice. It fits the context of expressing surprise or

disbelief



C. forever

Incorrect Try Again



D. wherever

Incorrect Try Again



3. The money we collected is _______________near enough to cover our expenses, but

much more is needed still.

A. anywhere

B. everywhere

C. nowhere

D. somewhere



A. anywhere

Incorrect Try Again



B. everywhere

Incorrect Try Again



C. nowhere

Correct Next Question

Explanation: nowhere is the correct choice. It conveys the idea that the collected money is
insufficient.



D. somewhere

Incorrect Try Again



4. How ______________a three -year-old child be expected tie his shoelaces without any

help?

A. can

B. may

C. must

D. has



A. can

Correct Next Question

Explanation: can is the correct choice. It forms the correct question structure.



B. may

Incorrect Try Again



C. must

Incorrect Try Again



D. has

Incorrect Try Again



5. I don't choose teaching as my profession, ____________I know teachers have long

vacations.

A. therefore

B. but

C. and

D. so



A. therefore

Incorrect Try Again



B. but

Correct Next Question

Explanation: but is the correct choice. It indicates a contrast between the two statements.



C. and

Incorrect Try Again



D. so

Incorrect Try Again



6. I don't understand why she wouldn't lend us one if she_______________ two books.

A. has

B. has had

C. had had

D. had



A. has

Correct Next Question

Explanation: ‘has’ is the correct choice. It indicates present possession of two books.



B. has had

Incorrect Try Again



C. had had

Incorrect Try Again



D. had

Incorrect Try Again



7. I completely _______________ with you; taxi drivers and waiters shouldn't expect tips.

A. disagree

B. have agreement

C. disagreed

D. have disagreed



A. disagree

Correct Next Question

Explanation: disagree is the correct choice. It expresses complete disagreement.



B. have agreement

Incorrect Try Again



C. disagreed

Incorrect Try Again



D. have disagreed

Incorrect Try Again



8. Everyone knew about the change in the exam schedule, but ________________ of them

told me about it.

A. some

B. few

C. none

D. any



A. some

Incorrect Try Again



B. few

Incorrect Try Again



C. none

Correct Next Question

Explanation: none is the correct choice. It means not a single person told the speaker.



D. any

Incorrect Try Again



9. I _________________ any good films for the last six months.

A. had not seen

B. have not seen

C. did not see

D. I don't see



A. had not seen

Incorrect Try Again



B. have not seen

Correct Next Question

Explanation: ‘have not seen’ is the correct choice. It expresses a continuous action from
the past until now.



C. did not see

Incorrect Try Again



D. I don't see

Incorrect Try Again



10. ___________ You score an A on this exam, you will not choose to study English in the

university.

A. unless

B. if not

C. except

D. because



A. unless

Correct

Explanation: ‘Unless’ is the correct choice. It expresses a condition for something to

happen.



B. if not

Incorrect Try Again



C. except

Incorrect Try Again



D. because

Incorrect Try Again


